1.

A A B L m, ol Ehate] S o) g FotE?

N

N

VNfs
=N

O @ 9 ® 15 @ 18



th& 197t 2ol AD // EF // BC .
Ao, xy o 22 ToHE? B “/C

® x=15,y=13.6

@ x=16,y=13.6

® x=17,y =146
@ x=17,y =156

® x=18,y=13.6



@ 7.lcm

@ 7.4cm

® 7.3cm



4. & 2™e)4 AD//PQ//BC & o, PQ o Zol=?

/’10‘\\

A D

P Q

~—_{5_---

@® 10.5 @ 11 ® 12 @ 125 ® 13



t}8 184 AB, DC, PHE 25 BC ol &Z o]t} o|uj PHY]

ZolE?

@ 3cm @ 3.6cm ® 4cm

@ 4.2cm ® 4.8cm



6.

e WaApagolth, A AE S| Qo]
T5hH?

@ 7.5cm @ 6.5cm ® 5.5cm

@ 8.5cm ® 9.5cm

i



th 139 AABC °4 BC // DE ©]i, A

PE = 6cm, BQ = 5cm, QC = 10cm & o,
AD : DB &7
D E
P| 6emr
D 1:2 @®3:5 ® 3:2 B i

BemQ™~10em-~

@ 3:4 ®2:1



o2 -l ¢//m//n D, y-x A

29
D 15 @ 2 @ 2.5
@ 3 ® 3.5




9. o2 J¥o)A AD//PQ//BC & W, x +y °] F2?

~
~~o1-

R~

@7 @ 75 @ 8 @ 85 ® 9



10. oABCDOJA AD//BC°]il 2AE = BE, AD = 6cm , BC = 15¢cm
o o, MN o] Zo]=?

A 6cm

@ 1lem @ 2cm @ 3cm @ 4cm ® 5cm



11. o 204 AB//PQ//DColal AB = 15cm, PQ = 9em, BC =
20cm ¥ ), DC + BQ 2] Zo]=?

D




12. thS WY ABCD o4 AB | Zolx?

//20“\\
\
10
P
B >
C~-15- Q



13. & I BP:PC=3:2,AQ:QC =3:4°|t}. AR = 9cm
o o, RP 2] Zdol&?

A
Q
R
o
B P C
D 6.2cm @ 7.2cm @ 8cm

@ 9cm ® 9.2cm



14. o 293 e Althe]E ABCD ©l4 AD //EF /BC ©]1l, AE =
4, EB=3, m+n=22¢ 1, m 2] 3t2?

@ 6 @7 ® 8 @ 9 ® 10



15. & 1394 AB,PH,DC + 2% BC D

_/[\_Zq O]j’_, ﬁ = SCm,Dic = 12cm A \\
ol o, PH 9] Zdol=? K P 1\2cm
8cm ,'
\ /
@ 2.4cm @ 3.2cm B H C
® 3.6cm @ 4em

® 4.8cm



